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QUESTION 1

How much dispersion will a pulse accumulate in 20 km if it has a dispersion figure of 17 ps/nm/km? 

A. 34 ps/nm 

B. 68 ps/nm 

C. 340 ps/nm 

D. 680 ps/nm 

E. 3400 ps/nm 

Correct Answer: C 

 

QUESTION 2

If a host sends a TCP segment with the RST flag set, it means: 

A. The receiver should send all data in the reassembly buffer to the application receiving it immediately. 

B. The receiver should reset the session. 

C. Any routers between the source and destination hosts should reset the state of the connection in their buffers. 

D. The receiver should make certain its send buffer is pushed onto the wire. 

Correct Answer: B 

 

QUESTION 3

What is NOT an ATM class of service? 

A. CBR 

B. VBR-t 

C. ABR 

D. UBR 

E. CAR 

Correct Answer: E 

 

QUESTION 4

What is a reason for using amplifiers with more than one stage? 
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A. To suppress ASE noise 

B. To increase ASE noise 

C. To maintain gain 

D. To lower OSNR 

Correct Answer: D 

 

QUESTION 5

In SDH an AU-4 unit is formed by: 

A. Adding a C12 to its path overhead 

B. Adding a VC4 to a VC4 pointer 

C. Multiplexing TU12s 

D. Combining a VC3 and its VC3 pointer 

Correct Answer: B 
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